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Different Concepts of NATIONAL INCOME

[Gross Domestic Product]

Gross domestic product (GDP) is a measure of the market value of all final
economic goods and services, produced within the domestic territory of a

——

country during a given time period.

It includes the value of goods produced, such as houses and mobiles, and the
value of services, such as telecom, health, insurance.

The output of each of these is valued at its market price, and the values are
added together to get GDP.
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GAPS BETWEEN THE NOMINAL AND REAL GDP
Real GDP (2011-12 prices) and Nominal GDP (at current prices) in Rs. Lakh cr

: BGS! ear 236.6
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Note: *Provisional estimates **Revised estimates #Second revised estimates
Source: Ministry of Statistics and Programme Implementation
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Real GDP or Gross Domestic Product (GDP) at Constant (2011-12) Prices in Q1 2022-23
is estimated to attain a level of ¥ 36.85 lakh crore, as against X 32.46 lakh crore in Q1

2021-22, showing a growth of 13.5 percent as eempared-te-20-1-percentin-Q12021-22
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ILLUSTRATION 1
Find out GDP Deflator? Interpret It

(In Billion Rs.)
Years Nominal GDP Real GDP GDP Deflator
2014 500 500 100
2015 800 650 123.08
2016 1150 800 143.75 —» Hijheot'
2017 1300 950 13684 |
2018 1550 1190 130.25
2019 1700 1240 157:10

GOP Oe}lo}or > 10D +hic Thdicates +hat
Pme levels has ~ fncreased o Com})afed to +he
base :)wf‘.

ILLUSTRATION 2

The nominal and real GDP respectively of a country in a particular year are ¥ 3000 Crores and
T 4700 Crores respectively. Calculate GDP deflator and comment on the level of prices of the

year in comparison with the base year.

GOP dcjlq’rom 3000 lo0 ., 63.83
L4700
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ILLUSTRATION 3 JIOO 5
Find nominal GDP if real GDP = 450 and price index = 120

]! deflator
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00

ILLUSTRATION 4
GDP

Suppose nominal &P of a country in 2010 (s given at ¥600 Crores and price index is given as
base year 2010 is 100. Now let the nominal GDP increases to ¥ 1200 Crores in 2018 and the

price index rises to 110, find out real GDP?
p——

Nominal GOP Price. Index- GiOP def

BOS:J&OY 2010 600 Cr. . 100
2018 1200 Cr-. 110,

Real GiOP of Soio- 600 cr
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1O
= 21090.9) cr.

E



—  We Can Qalalete SnLluhon ate ueing (aP dgflo‘row
QnUa’rion rote - GIOP deflaor fn year 2 — GiOP deflator B yeor 1 ¢ 100

o J
in (ljear Vi v J Gop d'{lol*iof) injeari &
(In Billion Rs.)

Years GDP Deflator 3"Ll0h00 RQ{R
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Multiple Choice Questions

1) is a measure of the market value of all final economic goods and
services, produced within the domestic territory of a country by normal

residents during an accounting year including net factor incomes from abroad.
a) GDP

MNP GIDP + NFIR

c) NDP
d) NNP

2) If Net Factor Income from Abroad is positive, then GNP would be

3
G TEIA -RTq GNP 7GOP
>
b) Lower 60 L,
c) Equal
d) Can’t say
3) ____ is a measure of the market value of all final economic goods and

services, produced by normal residents within the domestic territory of a
country including Net Factor Income from Abroad during an accounting year,

excluding depreciation. v
a) GDP » -N-L\I.P
b) GNP

NP

d) NDP x

—




dod. Dep vel ec  FC+%d Jox -Gb=mp

4) Gross Domestic Product (GDP) of any nation
a) excludés capital consumption and intermediate consumption
s inclusive of capital consumption or depreciation

: g) is inclusive of indirect taxes but excludes subsidies
| d) None of the above

5) Gross National Product at market prices él\'lls_pﬂis
W GDP w + Net Factor Income from Abroad

b? GDP wr - Net Factor Income from Abroad

cf'GDP v - Depreciation N= O+ NFR
erDPﬂa_+ Net Indirect Taxesy

6) The basis of distinction between market price and factor cost is
a)"net factor income from abroad

net indirect taxes (i.e., Indirect taxes - Subsidies)
c)met indirect taxes (i.e., Indirect taxes + Subsidies)

ddepreciation ( consumption of fixed capital)
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(a) a measure of a country's economic output per person v
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(c) national income divided by population.”
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‘Qg - 3 crom

NDPec 8000
NFI 200 +
Und{stributed I"oLiks 100D
Corporcte 'Tax 500 ()

E]nl iw. (7 by Houscholds 1500 +
hOUsoho\da \200 ~
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_~ILLUSTRATION 5
v / <
From the following data, calculate NNPrc, NNPmp, GNPmp and GDPwp.

Items ¢in Crores
Operating surplus — Reat, Jat & frop- 2000~
Mixed income of self-employed - 1700
Rent -X e 550
Profit x 800
@indfrect tax 450
Consumption of fixed capital - Oep_ 400

Net factor income from abroad -50
Compensation of employees i ¢ 1000

L NNPd = 2000 +100 =50 +1000
= Yp50

2. NINPwp = NNPee +ndint Taxe -Subsidj
- Yoso + 4430
> YSod

3 GNPwe = NNPwp + Oep
4Soo + Yoo

4900

[}

4. G0DPwp - GNPwe - NEA = 4400 -(50) = 4950

E



ILLUSTRATION 7 = 4

Calculate the aggregate value of depreciation when the GDP at market price of a country in a
particular year was ¥ 1,100 Crores. Net Factor Income from Abroad was ¢ 100 Crores. The value
of Indirect taxes — Subsidies was ¥ 150 Crores and National Income was ¥ 850 Crores.

(;DPwe - 1OO . NRA= 100, NIT
NNPFc. = 85D

GIDPMP = NNPre + De NF’I + NIT
1100 850 +Oe -100 +I50

DeP T 200 cr‘orm

(1]

L\

E
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ILLUSTRATION 6

From the following data, estimate National Income and Personal Income.

Items . in Crores
Net national product at market price 1,891
Income from property and entrepreneurship accruing

to government administrative departments ( 45)
Indirect taxes '%nom 175
Subsidies -38nom 30
Saving of non-departmental enterprises ( 70)
Interest on National debt — Tram ftr Snwn'lﬁ + 15
Current transfers from government -Tmmlu Jnome - +=35
Current transfers from rest of the world + 20
Saving of private corporate sectér%g?‘r#n& 25
Corporate profit tax 25

NaKonol 9nwme = NNPup  — Indirect Tares + Subsidio

[NNPe) = 1841 - 1S + 3D
= |46
Private dnome =  NNPxe

746 -U5 -10 +15 +35+20
Private Jnwme = 176!

Budnes - ?ml]ib- |00 M Inome

Privakt Sechor / \
s Owidend ~ Rebained ~ Tox
Yo 20 Ho Qouqh




/I)ersonoll Inwome = 1746 -Y5-10 +I5+35 +20-25-25
Houschold = Z 1711

tr——
—_———rT

ILLUSTRATION 8

On basis of following information, calculate NNP at market price and Disposable personal income

Items Tin Crores
NDP at factor cost -(D pmeatic 3nwme 14900
Income from domestic product accruing to government (750)
Interest on National debt - Ti'amtat’ frome -I- 170
Transfer payment by government + 60
Net private donation from abroad - T\"umlﬂ' + 30
Net factor income from abroad + 30
Indirect taxes /-33“0“0 335
Direct taxes — Personal ﬁnwme TQ.X 100
Subsidies -3anom 262
Taxes on corporate profits </ ( 222)
Undistributed profits of corporations (_ 105 J

NNPup = Népﬂ, + NFIA + Indiret Tax -SubSIclj
- g0 + 80 + 335 — 262
= 5053
NOPsc '
Personal _ 14900 -150 + 170 +60+30 +80 -222-105
Inme = 14763

Personal 14763 — 100
DfsPosabk Inwome Y663

THR!



’fﬁa- CO‘CM'DtC- 0) eruo't& anwmg, (-“](pﬁf.wno‘ nwme g/

i) Phrsonal 3I5P0$ob]8 finwome

T
Natfonal  Jnome - NNPec 3000
Sa\nn s O Prwa’rt OorPOMk Sector . 30
Cor‘:}oru’rc Tox - 80

Current ti‘omfm om (rovt. 60
Inwme {)rom j;;m}oerﬁ L entre hncutshllj t0 Giovl 150
Curnerrh tra Ler.s rom Tcot Oﬁ the world. 50
ﬂ\JIT{‘]A L non- clepartmental 50% Sechor 40
Neébt Tndiredt’ Tareo 250
DN rech toxes ’Pcﬁd by howehold - 100
Net Ld.c’ror fhon Lrvm abroad clo)

1] Private. ncome
" - 23000 + 60--150 +50 -4p
= %2920

2] Pergonal Jnwme = ggao -30 -80

3) ?orswa\ Dfs?osug Intome = JBI0 — (00
= 0

..............................................................................



8) Personal income excludes:
(a) NFIA

‘M('Zorporate tax -~

(c) Personal Tax

(d) Current transfers

9) Total income of households from all sources is known as:
va/personal income

b) private income

c) personal disposable income

d) None of the above

10) Which of the following is added to national income while calculating

personal income? NNPrc
&i’%ansfer payments to individuals

(b) Undistributed profits of corporate
(c) Transfer payments made to foreigners
(d) Mixed income of self employed
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Data requirements and Outcomes of Different Methods of National Income Calculation

Method

Data required

What is measured

Phase of Output: Value
added method (Product
Method)

The sum of net values added by all
the producing enterprises of the
country

Contribution of production
units

Phase of income: Income
Method

Total factor incomes generated in
the production of goods and
services

Relative contribution of
factor owners

Phase of disposition:
Expenditure method

Sum of expenditures of the three
spending units in the economy,
namely, government, consumer
households, and producing
enterprises

Flow of consumption and
investment expenditures




1. Valve added Method or Product Method.

Steb1 Qdenti)y the rocluop enterprisn & clossi
P2 Hhem Lj %ollo&): Gecton P}o l\.j
] “Primar Sec’mr QSTICM husc exhhoH()n natural  Yecourws.

b] Sewnd USu’mr F'aoh) Manjaduri j

o 'IErHoa or Sewvice Sechr- Bonhm I‘GmFort

g___!_eflli ‘{sl-‘l’mate the GlFOss Valve added C(JIVHMP) bg,
Cach Produdnﬂ enkrpﬁ’se.

GivAme = Vaolue OL Oul‘out' - Sn’wr«l:e;ifotc

nsu mpH on

The Taste of India

Tokal Oul'lou)ﬁ ,3001@50-3I0.0_00 " pufohusa 10 tJOt)’lﬂ'"‘"’de'i
ee-cr Cream)- {80,000
- ’Sntel‘n]cdlute (10.000)

GivAme- Z10.000 Consumphion
GNQMP 40.000

_____

.....
--------
.......



ZGvAme = 10.000 +40.000
= Z50,000 ZGVAmp = GriOPme
R_nuah =
=
— @ '
2 £ :3 Q
Wood - 100 ‘urch- 100 = Purch-300
4vA - 100 400 .+ _deg
300 - 500 — (onsumer
gvﬂ' 300
&vﬂ‘éloo
nge 100 +00 + 200
= 500
T QDPMP

— \Value ol @utPu‘G Sole + change f 8+00I{
j S+od( OPS’rvola

ﬂr.j.- fotal Qalea- 2100.000
OP8+00 310.000 Valqu Oukput’
Chonge Tnstod

5+od0\ 15,000
100,000 -10,000 +1500D
= 2105000

S+et:___1?>: Estimation o, Natfondl Inwme
NNPec = “GiDPmp - DG‘P + NFIA = Néb Indived foses




ILLUSTRATION 9

Calculate National Income by Value Added Method with the help of following data-

Particulars
Sales v

Opening stock ~

Intermediate Consumption

Closing Stock

Net Factor Income from Abroad

Depreciation
Excise Tax—

Subsidies

¢ (in Crores)

_700
500
_350
v’ 400
-~ 30
=150
= L

50

GiVAMe = Valve OL Ou‘r!:)ut - Intermediate cons

700 -5004400) - 350

GiDPnwe = Q50
NNPee = GiDPwp - Dep + NFi

"gndil‘ed Tax + S

= 950-150 '+30-I

= Z70 Ctoro




ILLUSTRATION 11

Calculate national income by value added method.

Particulars (X in crores)
Value of output in primary sector v 7~ 2000
Intermediate consumption of primary sector k 200
Value of output of secondary sector - 2800
Intermediate consumption of secondary sector 800
Value of output of tertiary sector -~ 1600
Intermediate consumption of tertiary sector 600
Net factor income from abroad = =30
JI\I_eLindirect taxes 300
Depreciation 470

GDPwe- (009 -200) + (2300 -800)+ (l600-600)

-
-

NNPe¢ -

Yg0p

Ugop — 410 — 30 - 300

=2Y4000

8Vﬂmp : Primau




ILLUSTRATION 12

Calculate Net Value Added by Factor Cost from the following data

Items 7in Crores
Purchase of materials 85
Sales — 450
Depreciation 30
Opening stock - 40
Closing stock 30

Excise tax- 45

Tntetmedialr cons-
ereod Theludes

Intermediate consumption 200

Subsidies 75 & Puchase ol I“lakml
GAne =(Y450 +30 -U4o) — Q00
Y0
NVAre = GiVAwe - -Ind Tax +8ub51c5
= QY0 - 30- us +18

= %180 Crors-



ILLUSTRATION 10 cht.ﬂnt: ?mﬁt
Calculate the Operating Surplus with the help of following data-

Particulars Tin Crores
Sales - 4000
Compensation of employees ~ 800
Intermediate consumption - 600

Rent 400
Interest 300

Net indirect tax - — 500
Consumption of Fixed Capital - DP/P 200

Mixed Income 400

et et I D

NDPFC - ComP OL emFloUo;fq ’.x_e'-do 3 ,;?::;]EI?L Ed‘{m’p_

- :0Pmp = Yooo - 600

-~ 3400
NOPee - 3400 - 200 -500
- 2100

Q100 = o0 + Ob Surp + Yoo
O‘: Surp =ﬂ7



Home works :

Calculate ‘Sales’ from the following data :

Particulars T in Lakhs
Subsidies 200
Opening stock 100
Closing stock —600
Intermediate consumption 3,000
Consumption of fMitafbef 700
Profit 750
Net value added at factor cost 2,000

P ]
=

GVAme = NVAre +Deb + Indbar -Sub.
- = 3J0o00 + 700 + O - 200

= 500
qv&"ﬁ' Valve o ou ut

@;500 c [goleo - = Ohalzje. in Sﬁ)ok] ﬁnttm]cd (ons
2500 = Salw + 660 V- 10D 3000
Sales - F5000
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Inwme Emm o COm ensation 0] eém lodcea
Insorne [rom nlrepren. + 0 ro’drﬁ SurPlua (Rent +Int +9m it)
+  IMixed YShcorne OL Se,ll em]:lo esl-

Im
=F | Combensation OL ﬂm‘i})\o e
Q. @ena?on OL R&Wﬂ:d &)or % Qre nob ?ﬂo\uded-,
b. COE "Tholudeo:
@) Wages & Salaria
Gy Bon
¢ Deomess AlloDanee [0A]
v (ommission
(v) ﬂcm,o\rdem contribution 1o rprou'ldent Lund.

Rouﬂb_, SalarJ - Z10Qv
- / erltz]ﬂ"v
gmrlodom Conbibul«""(%li) 88 v + e o Conts
F

W) Sml:)ukd value OIJ OomFmSQhon Sn Rind
|| Eﬁhn]cdid



2. Yt (lj by Govt on ;Sub\l‘c debb - 'ﬁom&er

nt on ConSumth Loans Inome. will
hot be Mcluded.-
3 Plbo\ a;ﬁns wind|all brojib framtor Chomes 9 Tnome
me 3ale l 3ewond- ha 8ooda nob "fnclvded.

L

2y &P enditure l"leﬁhod,

nwrne Df’sFOSQI P‘]o’t%Od

Gl_DPnP ul Zﬁnal fu&Pendl}un:
L, Total amb 0] Shending on
aoodn g{ Senvfeen , broduced wi}ﬂn
Dorrlco%fc =|€rr?+ozT

[ J ! N
Household, Budness %O\lcmn?ent } O1ien Sector
& COrJSumFH

. Q
xpendﬂwe Total Sr[.)end“?juae Sooda Jowius

fr

[p:'cgm Efnaﬂ CmnSumPhon exPTO

b QPend: by Houschold

z nan- N? ln.S’h’ru ot Qervirﬂ
Househad . £x. &ood, Clo+hmj eddcaton, etc.



9+ also Qndudﬂo the value 0 j},, ooda Ohich
Qre Pl‘odvu,d l)OF on Cong FHOD lij Pmuaefoold/}

—  lond & Refdental bulldmjo fJurchGaecl or Conshructd

by houschold  not Forl— Prce
L, Included in
Snmhqmts
b] Giovt. kfnak Cnngumpho l')
adf bd Giovl
On f)rov‘?dinj faubhc Seniten Stwl'L G/a edu cation,
Q)eolfhcnrr ete.

—s  Gjovb exp On ;Jenanor) Scholaiships . ek Should be
exduded! bez! heoe are Hamler f:)qdrqe,nh

2. @nv$t\n ens

Giross Domete Capita) l}or mation "’Gn“oss Iveament
-~ Counhys tobal ex.l: ©Ohich Ls not consumed bub
Qdded ()"0 Nations Lmed i}ssd:o 3tock.

\, G’(ross gusﬁ'ness L‘ued Aveshment: ndl 0ods

Sucb Qo I"J hlﬂCi’j e:ia,fmeﬁb

2,- ﬂnvenbrd 3nveoimen"t Ch0£ln aggnh”(:k
R Sto

3. ‘Househo\d Qv - ﬂmt Sbent on buildi 0 hou.slﬁ
Unib, aoiufslhon 0 nﬁ\hhabl{n



ﬂn anv b Cnovt Quch as %oads.
osP

— Neb Qomeaﬁe co ko\‘mohoo a G|ross Oon7eoha
Net Invomen

0. Riblte Qnuestment -

(Aj.) Lorrqqhoo
[Consumpﬁon ol Lhted (.a.P)

) Neb Skf)or’n C SxPora‘ -Sampoer

Ex enditun by |oving enkitu on domet
q)mda“d %‘”dﬂ rord lZ@emca \ " “'%

Usq f’]umb Y ﬂ)) H 9
v /i
250000 e \C_ Gmodn Prod: 10000 Conodq
ﬂn luded RD 8& 13
PFCE + GOPwe g P
v
Not +o be Tncluded
‘n GDPwp

GPue =

)
Han Consum
+ CJross Domeatbe CQP
Neb SxPorb CE}&P

Hon aoxlb

ormation
hrlam ﬂmPort )




ALUSTRATION 13

Calculate NI with the help of Expenditure method and income method with the help of following
data: . NNPFG

Items Tin Crores
Compensation of employees v’ 1,200 nx
Net factor income from Abroad # 20 )
Net indirect taxes » ~ —]120
Profit - 800
Private final consumption expenditure -~ 2,000
Net domestic capital formation 770
Consumption of fixed capital - 128
Rent 400
i Alread
Interest 620 ;.-‘ 3no|u d ed
Mixed income of self-employed - 700 ioo=
Net export 30 |
Govt. final consumption expenditure 1100
Operating surplus 1820
Employer’s contribution to social security scheme 300

JIncome l‘]eﬂwd. -
NOPrc - 1200 + 1320 +700

= 3730
Natonal Inome= 3130 +<p = AT4D
NNPre -

EXP Metod , G1DPee = oo +T10 +130+ 30+ 110D
— - 403D
NNPr¢ = 4030 —130+Q0-120 = 3800




ILLUSTRATION 14 b

From the following data calculate (a) Gross Domestic Product at Factor Cost, and (b) Gross
Domestic Product at Market price

Items ¢in Crores

Gross national product at factor cost & 61,500

Net exports (-) 50
Compensation of employees —=3000

Rent - 800

Interest 900

Profit 1,300

Net indirect taxes =300

Net domestic capital formation 800 06
Gross domestic capital formation 900) Ll P
Factor income to abroad 80

Inwrr}e Nlo_ﬁ__gd.
NOPre - 3000 + 800 +900 +1300

= 26000
GiOPre = NDPee +9@F
= 6oop +100
= J6100
GIOPMQ < GDPF—L + Ind Fax - Qub
- 6100+300

- F6u00



ILLUSTRATION 15

Calculate NNPec. By expenditure method with the help of following information -

Items Tin Crores
Private final consumption expenditure ~ 10
Net import (' Export -3mp) C20) 20
Public final consumption expenditure ~ 05
Gross domestic fixed capital formation - 350
Depreciation 30
Subsidy 100
Income paid to abroad 20
Change in stock ~ 30
Net acquisition of valuables 10

GlDPMP: IQJO -20 +05 + 350 420 +10

NNPro -

—
-

as

385 -30-30 + 100
i3



Calculate Gross Domestic Product at market Prices (GDPwmp) and deriv
national income from the following data (in Crores of %)

Inventory Investment + 100
Exports Sl 200
Indirect taxes -~ 100
Net factor income from abroad -_50
Personal consumption expenditure . -+ 3500
Gross residential construction investment 4+ 5
Depreciation = 50
Imports — 100
Government purchases of goods and services — -+ 1000
Gross public investment + 200
Gross business fixed investment + 300

GDPwe = 35500

NNPee - GDPwe - Deb +NAQ - NIT

w

%5300

5500 - 50

50 - IOO



S -

Find GDPvr and GNPwp from the following data (in Crores of ¥ ) using income
method. Show that it is the same as that obtained by expenditure method.

Personal Consumption « + 7,314
Depreciation g 800
Wages + 6,508
Indirect Business Taxes 1,000
Interest 4 1,060
Domestic Investment 4+ 1,442
Government Expenditures 4 2,196
Rental Income 4+ 34
Corporate Profits 4 682
Exports + 1,346
Net Factor Income from Abroad - 40
Mixed Income + 806
Imports - 1,408

Tocome l"lo{%od -

GIDP!“M NDPre + De

= NDPH:. = ?qqu

+ NIT

. 9090 + Bob + 1000

= 10890
GH_\}PMP

n

10840 +40
710430

M

:0Pmp  + NFIR




SxPendikm Method

Gi OPpqp - 10840
(NP Mp- 10890 + 40
= |0930



11) The concept of ‘resident unit’ involved in the definition of GDP denotes
(a) A business enterprise which belongs to a citizen of India with production
units solely situated in India X

he unit having predominant|economic interest|in the economic territory

of the country for one year or more irrespective of the nationality or legal
status

(c) A citizen household which had been living in India during the accounting
year and one whose economic interests are solely in India X

(d) Households and business enterprises composed of citizens of India alone
living in India during the accounting year X

12) Read the following statements and answer the following question.
l. Intermediate consumption consists of the value of the goods and services

consumed as inputs by a process of production, v’
IJ. Intermediate consumption excludes fixed assets whose consumption is

recorded as consumption of fixed capital. v’

(a) Only lis true

(b) Both | and Il are true\/
(c) Only Il is true

(d) Neither I nor Il is true

13) Which of the following does not enter into the calculation of national
income?

(a) Exchange of previously produced goods

(b) Exchange of second hand goods

(c) Exchange of stocks and bonds

(d) AlL the above ,




i 195 158 ot

150- Ouﬂ:ut

14) Read the following statements

l. ‘Value added’ refers to the difference between value of output and
purchase of intermediate goods. v

ll. “Value added’ represents the contribution of labour and capital to the

production process.

(a) Statements | and Il are incorrect

(b) Statements | and Il are correct

(c) Statement | is correct and |l is incorrect

(d) Statement Il is correct and | is incorrect

*

15) Non-economic activities are

(a) those activities whose value is excluded from national |)n‘come calculation
nbermediote

/(,B)' those which produce goods and services, but since these are not

as it will involve double counting— 9

exchanged in a market transaction they do not command any market value
(c) those which do not involve production of goods and services as they are
meant to provide hobbies and leisure time activities

(d) those which result in production for self consumption and therefore not
included in national income calculation

16) Which of the following enters into the calculation of national income?
(a) The value of the services that accompany the sale v/ /Chor\ ein
{5) Additions to inventory stocks of final goods and materials v

(c) Stocks and bonds sold during the current year - Finanaal Frons.

P(d‘)/(a) and (b) above




17) National income using the below data is:

d) None of the above

1 | Personal Income 8000
2 | Mixed Income of self employed + 2000
3 | Compensation of employees 4+ 1600
4 | Net-factor Income from abroad ~ =200
5 | Rent -+ 1500
6 | Personal Income Taxes 800
7 | Profit —+ 1400
8 | Consumption of fixed capital 600
9 | Direct taxes paid by households 900
10 | Non-Tax Payments 1000
11 | Net Indirect taxes 700
12 | Net Exports Taxes -180
13 | Interest —+ 1100
NODPre =600
a) 6300 NNPrc - 7600~ 200
| by7a00 " oD T
c) 8200




#

I

18) Operating Surplus using the below data is:

Particulars T (In Crore)
Sales v 4,000
Compensation to employees 800
Intermediate consumption v* 600
Rent —400
Interest —300
Net indirect taxes - 500
Consumption of fixed capital «* 200
Mixed income 400
OPwp = 145000 — 600 )
a) 800 Githp - 4o —  NDPes Byo0-doo-3
Sl NDppc = C{)mp + @PQ)UYP + Mle-d inC-
c) 700 P
d) 1200 8100 = Boo +

op +400
OF Suer I’:W)Tg)




19) Domestic Income using the below data is:

Particulars < crore

(i)  [Sales by firm B to aeneral aovernment 300

(i) |Sales by firm A Total Sales 1500

(i) |Sales by firm B to households 13501

(iv)  [Change in stock of firm A 200

(v}  |Closing stock of firm B r 140

(V) |Opening stock of firm B 130

(vi) |Purchases by firm A 270

(vii) |Indirect taxes paid by both the firms 375

(ix) [Consumption of fixed capital = 720

Sales by firm A to B Airead Ind in i 300
a) 1,995
,695
) 1,295

d) None of the above

6oy A

1

VGIUi @L OUJ‘Put -—Sn’ﬁemlul Cbnﬂum},
Salea + Oheryun StoR

- ]500+d00 - 270
= 1430

% _

HmB = 1650410 — 2300
= 1360

GOPme- 1430+ 1360 = 2190 _
NDPec = 2190—120-315 = 1695



Which Method is more suitable?

* Ideally, all the three methods of national income computation should

arrive at the same figure.

e Each method of measuring GDP is subject to measurement errors and

each method provides a check on the accuracy of the other methods.

* By calculating total output in several different ways and then trying to

resolve the differences, we will be able to arrive at a more accurate

measure than would be possible with one method alone.

* Moreover, different ways of measuring total output give us different

insights into the structure of our economy.

Income method/may be most suitable for

people properly file their income tax returns.

developed economies| where

With the growing facility in the use of the commodity flow method of

estimating expenditures, an increasing proportion of the national income is

being estimated by expenditure method.

Most suitable method for INDIA?
As a matter of fact, countries like India are unable to estimate their

national income wholly by one method.

Thus, in the[agricultural sector] net value added is estimated by the

production method

in the

by the/income method

small scale sector

and in the

net value added is estimated

construction sector|net value added is

estimated by the lexpenditure method




NATIONAL INCOME ACCOUNTING

National Income Accounting, pioneered by the Nobel prize-winning

economists Simon Kuznets and Richard Stone v -

It is the system of macro-economic accounts
from the stage of production of goods and
services to the stage of their final disposal.

National Accounts help us to understand how the various

transactions from the stage of production of goods and services to the
stage of their final disposal are interrelated and give us an idea of the
working of an economy.

It helps to meet the needs of Government, private analysts, policy makers
and decision takers.

The Central Statistical Organisation (CSO) in the Ministry of Statistics and
Programme Implementation (MoSP&I) is responsible for the compilation of
National accounts statistics.

At the State level, State Directorates of Economics and Statistics (DESs) have
the responsibility of compiling their State Domestic Product and other aggregates

" GOVERNMENT OF INDIA

MINISTRY OF STATISTICS AND :
: PROGRAMMEIMPLEMENTATION;




THE SYSTEM OF REGIONAL ACCOUNTS IN INDIA

Regional accounts provide an integrated database on the innumerable
transactions taking place in the regional economy and help decision making at the
regional level.

At present, practically all the states and union territories of India compute state
income estimates and district level estimates.

State Income or Net State Domestic Product (NSDP) is a measure in
monetary terms of the volume of all goods and services produced in the state
within a given period of time (generally a year) accounted without duplication.

Per Capita State Income is obtained by dividing the NSDP (State Income) by the

midyear|projected population of the state.

In the preparation of state income estimates, certain activities such

as railways, communications, banking and insurance and central government
administration, that cut across state boundaries, and thus their economic
contribution cannot be assigned to any one state directly are known as the

‘Supra-regional sectors’ pf the economy.

The estimates for these supra regional activities are compiled for the economy as
a whole and allocated to the states on the basis of relevant indicators.




USEFULNESS AND SIGNIFICANCE OF NATIONAL INCOME ESTIMATES

Businesses to|forecast the future demand for their products

The estimates of national income show the composition and structure of
national income in terms of different sectors of the economy, the periodical
variations in them and the broad sectoral shifts in an economy over time.
Sectoral contribution to National Income information is used by the
government to decide various sector-specific development policies to increase
growth rates.

National income statistics also provide a quantitative basis for macroeconomic
modelling and analysis, for assessing and choosing economic policies and for
objective statements as well as evaluation of governments’ economic policies.
National income estimates throw light on income distribution and the possible
inequality in the distribution among different income categories . It facilitates
the process of comparisons of structural statistics, such as ratios of
investment to growth , taxes proceeds and fiscal deficit , or government
expenditures to GDP.

International comparisons in respect of incomes and living standards assist in
determining eligibility for loans, and/or other funds or conditions under which
such loans, and/ or funds are made available.

Combined with financial and monetary data, national income data provides a
guide to make policies for growth and inflation.




GDP & WELFARE

Can the GDP of a country be taken as an index of the welfare of people in

that country?

There are many reasons to dispute the validity of GDP as a perfect measure of well-
being. In fact, GDP measures our ability to obtain many requirements to make our life
better; yet leave out many important aspects which ensure good quality of life for all.
GDP measures exclude the following which are critical for the overall wellbeing of
citizens:

* Income distributions and, therefore, GDP per capita is a completely inadequate
measure of welfare. Countries may have significantly different income distributions
and, consequently, different levels of overall well-being for the same level of per
capita income.

* Quality improvements in systems and processes due to technological as well as
managerial innovations which reflect true growth in output from year to year.

* Productions hidden from government authorities, either because those engaged in it
are evading taxes or because it is illegal (drugs, gambling etc.).

¢ Non market production and Non-economic contributors to well-being for example:
health of a country’s citizens, education levels, political participation, or other social
and political factors that may significantly affect well- being levels.

e The disutility of loss of leisure time. We know that, other things remaining the same,
a country’s GDP rises if the total hours of work increase.

fobd Bours ol) \qwrk T - GioP7
Lefsure hme VL \/\lﬁlLON JI




Economic 'bads’ for example: crime, pollution, traffic congestion etc which
make us worse off.

The volunteer work and services rendered without remuneration undertaken in
the economy, even though such work can contribute to social well-being as
much as paid work.

Many things that contribute to our economic welfare such as, leisure time,
fairness, gender equality, security of community feeling etc.,

Both positive and negative externalities which are external effects that do not
form part of market transactions

The distinction between production that makes us better off and production
that only prevents us from becoming worse off, for e.g. defence expenditures
such as on police protection. Increased expenditure on police due to increase in
crimes may increase GDP but these expenses only prevent us from becoming
worse off. However, no reflection is made in national income of the negative
impacts of higher crime rates. As another example, automobile accidents result
in production of repairs, output of medical services, insurance, and legal
services all of which are production included in GDP just as any other
production.




LIMITATIONS AND CHALLENGES OF

NATIONAL INCOME COMPUTATION

There are innumerable limitations and challenges in the computation of national
income. The task is more complex in underdeveloped and developing countries.
Following are the general dilemmas in measurement of national income.

There are many conceptual difficulties related to measurement which are difficult
to resolve, such as:

a) lack of an agreed definition of national income,

b) accurate distinction between final goods and intermediate goods,

c) issue of transfer payments,

(

(

(

(d) services of durable goods,

(e) difficulty of incorporating distribution of income,
(f) valuation of a new good at constant prices, and

(

g) valuation of government services

Other challenges relate to:

(a) Inadequacy of data and lack of reliability of available data,

(b) presence of non-monetised sector,

(c) production for self-consumption,

(d) absence of recording of incomes due to illiteracy and ignorance,
(e) lack of proper occupational classification, and

(f) accurate estimation of consumption of fixed capital

.................................................................................................................................................................................................
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ILLUSTRATION 2

Calculate marginal propensity to consume and marginal propensity to save from the following
data about an economy which is in equilibrium:

National income = 2500, Autonomous consumption expenditure = 300, Investment expenditure
=100

AD = AS

J = 2500 =C+S
A = 300
J - 100-8

Jd=C+5
Js00- C + |00
C- Q400

C =a +bY
Qyop = 300 + bAK0D
alop = bx2500
=5 b’ Q_ig_o = 68\']
2500
MPC: 0.8y
MPS- |-b
- |-0.84- O1lb



ILLUSTRATION 3
An economy is in equilibrium. Calculate national income from the following-
Autonomous consumptton = 100; Marginal propens:ty to save= 0.2; Investment expenditure= 200

(L 100 MPS- QL EI A00
-Q.= -100 MPC- ©.8 S- 200

S - -a + MpsyY
Qo -100 + 0.2Y
300 -V
0.2

- 1500




ILLUSTRATION 4

Suppose the consumption of an economy is given by C = 20+ 0.6 Y and investment |= 10+ 0.2
Y. What will be the equilibrium level of National Income?

C=20+06Y  3-10+02Y
N=C+]3
As- AD

J = Q0 +06Y + 10+402Y
Y= 30+6.8)

O2¥= 30 _
>3 = (90

ILLUSTRATION 5

Suppose the consumption function C= 7+ 0.5Y, Investment is € 100, Find out equilibrium level
of Income, consumption and saving?

.
C=717+05Y , 9-l00
S5-:100~

VRS
N = 174+05Y + 100

05y 107]
Y
C

a4

> T+ 0514
- 1Y



ILLUSTRATION 6
If the consumption function is C= 250 + 0.80 Y and | = 300. Find out equilibrium level of Y, C

and §?
C-3s50 +0.8Y  3-300
5- 300

N=C+S5
Y = 250 +0.8Y + 300

0.2Y- E50
Y- 2750

C - 50+ 08415
Qo




ILLUSTRATION 7

«
If saving function S = -10 + 0.2Y and autonomous investment | = 50 Crores. Find out the

equilibrium level of income, consumption and if investment increases permanently by <5 Crores,
what will be the new level of income and consumption?

S- -0+ 02y | 9-50

S- 50
30 = -10 +0.2Y
60 = O.2Y
J-300

C- o+ bY
= 10 + 0.8x300
= 50

Q-55 -8:-55
E5= -0 +02Y

65 =02y
N: 325




ILLUSTRATION 8

Given the empirical consumption function C= 100+0.75Y and | = 1000, calculate equilibrium
level of national income. What would be the consumption expenditure at equilibrium level
national income?

C=100+015y . 9-1000

$5=1000
J=C+5
= 0b+01SY + 1000
5y = 1100
¥:_tijoo

C- 100+ 015 xuyo0
C: 2400

0.
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ILLUSTRATION 9

In an economy investment expenditure (s increased by ¢400 Crores and marginal propensity to
consume is 0.8. Calculate the total increase in income and saving.

AT =400« " ~MPC-03

MPS-02
ﬂv 1l .5
0
K.-. A\/ > kXA_I: Ay 2
NI 5 x 400 > 2000

¢ O Snwme- dooo
Savings = 2000 x 0.2
= 4p0



ILLUSTRATION 10

An increase in investment by 400 Crores leads to increase in national income by 1,600 Crores.
Calculate marginal propensity to consume.

- leoo , 4
K 400

> K-=1 5 4-1 5 mMps-1. 025
MPS MPS 4

ILLUSTRATION 12

Suppose in a country investment increases by ¢ 100 Crores and consumption s given by C = 10

+ 0.6Y (where C = consumption and Y = income). How much increases will there take place in

income?
———

AT- ZI00
mPC> 06 - MP5- QY




ILLUSTRATION 11

In an economy, investment is increased by Rs 600 Crores. If the marginal propensity to consume

(s 0.6, calculate the total increase in income and consumption expenditure.

MPS - Oy
R- L .28
Ou
AY = 600 xS
= %500

AC - |1500x04
= 90D
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Jdd = J-20
S =C +1 + G
Y - 10+015(Y-20) +50 +20

3 80 +0.15Y - 15



.15

2> Y =65 +015Y
025Y = 65

J- 65 , 260
250

C = 100+ O154
T = 200

G =T-100

TR 50

L Jd= J-100 +50
= =50

C+ I + G
D_0+015L:I 50) + 200 + 100

0+015Y - 315

C - .

L= 80 K= |

16”1 = 25 +01) - 05C)-01)

7 f & ___l__ = __l_
Yd= J -25-01Y 1-O4s 055
’ - 182




Yy = C +r T + G
Y 5[8‘1‘) -25) +8o0 + 100
N

159 H40-91

—H(
R
NN
-
o

=
ey

Jd =Y.~ 20-025Y +15
5o W95Y +55

N = 80 +01(015Y+55) + 50 + 200

= 330+ 0.53Y + 385

Oy1y: 2685
N:- 78404
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ILLUS"'RATION 16 -

b ’
Suppose C= 100 + 0.80 (Y- T + TR); | = 200; T= 25+0.1Y; TR= 50; G = 100

Find out equilibrium level of Income?

= 1 S —
K |I-08L1-01)  1-0809 (-012



N = 100 4+08(Y-35-01 +50) + 100 +200
Y = Upo+ 08 09Y+25)
J- Uoo+ 012y +2D

028y = 42D
J = 1500
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./ An economy is characterised by the following equation-
Consumption C = 60+0.9Y4
Investment | =10

Government expenditure G = 10

Tax T=0
Exports X =20
Imports M=10+0.05Y

What is the equilibrium income?

Calculate trade balance and foreign trade multiplier.

= C+T+G+%X-M

= 60+09Y + 10 +10 ¥+20-10-0.05Y
- Qp +08oy,
Olsy =90 = |J:- 600




- [FTM-= _| - L .
=19 +n’] 1-09 + 0.05 15

= 661

X -M
&o 10 - ©.05x600

. 9’ Dee cit

e

—  Jrade Balance -

Hw - LT

——een
e

ILLUSTRATION 17 _ 6425

The consumption function is C = 40 + 0.8Y4,T= 0.1Y, I = 60 Crores G = 40 Crores, X = 58 and
M = 0.05 Y. Find out equilibrium level of income, Net Export, net export if export were to increase
by 6.25.

A, =N\ O
= 09y
Y= C + | + G + X-M
Y - 40+08x09Y + 60 +40 + &8 — 0.05Y
N - 198 +012Y-0.057
0233Y- 198
J= 600
Net eme‘rs X- M
K8 - 0.05x600

‘l 1]

A3



At, X-6435
J = Y40+0TY + 60 +4o + 6425 —0.05Y
3= Joyas + 061
0.33Yy - Q0425
Y: 6189y

Net exPorh = 6Y4.3S - 005x618.94
= 33303
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1) In the Keynesian model, equilibrium aggregatejoutput is determined by

%gregate demand

(b) consumption function

(c) the national demand for labor
(d) the price level

2) Keynes believed that an economy may attain equilibrium level of output
(a) only at the full-employment level of output
elow the full-employment level of output
(c) only if prices were inflexible
(d) a) and c) above

3) According to Keynes, consumption expenditure is determined by
(a) the level of interest rates

(b) extent of government taxes and subsidies
isposable income

(d) autonomous investment expenditure

4) The marginal propensity to consume (MPC) can be defined as
(ayé’change in spending due to a change in income

(b) a change in income that is saved after consumption

(c) part of income that is spent on consumption.

(d) part of income that is not saved.




N MPG

5) If the consumption function is expressed as C = a + bY then b represents
(a) autpnomous consumer expenditure when income is zero
,W’éo marginal propensity to consume.

(c) the expenditure multiplier when consumption is increased

(d) part of disposable income

rou’ronom“ﬁ

6) If the consumption function is expressed as C = a + bY then a represents
%tonomous consumer expenditure.

(b) the marginal propensity to consume.’

(c) the consumption income relationship,

(d) Non- linear consumption function ¢

-
7) If the consumption function is C = 20 + 0.5Yd, then an increase in disposable
income by Rs. 100 will result in an increase in consumer expenditure by

~ J
MPC
(a) 25 =
o 05%100-50
0
(d) 100

8) If the autonomous consumption equals Rs. 2,000 and the marginal

propensity to consume equals 0.8. If disposable income equals Rs. 10,000, then

total consumption will be _____ C — bYA

(a) 8,000 =

(b) 6,000 - 2000 + 0.8 x10000
0,000 > J000 + 8000

(d) None of the above
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9) In the Keynesian cross diagram, the point at which the aggregate demand
function crosses the 45-degreﬁ5[ine indicates the
(a) level of full employment income.x

(b) less than full employment level of income.
‘(y)ejquilibrium level of income which may or may not be full employment

Llével of income
(d) autonomous level of income which may not be full employment level of
income

¥
No o’ B
10) In a closed economy, aggregate demand is the sum of

(a) consumer expenditure, demand for )éxports and government spending.
consumer expenditure, planned investment spending and government

CH+0p

(c) consumer expenditure, actual investment spending, government spending

spending.
and net exports.A
(d) consumer expenditure, planned investment spending, government

spending, and net exports.X

v’
11) Under equation C= a+by, b=_0.8, what is the value of 2 sector expenditure

multiplier? K:—. e - L
(a) 4 I-MPc 02
(b) 2

5

(d) 1




12) Suppose in an economy

Consumption Function C=170+0.80Y
Investment spending | =200
Government Spending G=150 -
Tax Tx = 30+0.30Y
Transfer payments Tr =60
Exports X =45
Imports M =20 +0.2Y)
Equilibrium level of income is:  Y4- 3,30-03? +60
(a) 1021.5 = 01y+30
e Y= 170+ 0.8(077 +30]+ 200 +150 +45-20-02
kT 889.06 Y =545 +0.56Y+24-02Y
(d) 985.06 064 - 569

13) Suppose you are given following information-
Consumption function C = 10 + 0.8Yd jd, Y-50

TaxT=50_-
Investment spending | = 135 ~ 3 = 10+ 08L1Y-50] +135 +60+35 - 0.08Y
- |0+08Y-40o 135 + 60 +3S -0y

Y = T200+01S
0.15y: 200 3 Y-Boo

Government Spending G = 60 ~
Exports X =35 -

Imports M = 0.05 Y~

Where Y and Yd are income and personal disposable income respectively.
Net exports at equilibrium level is:

(a) 25 35 - 0.05 x80v
(b) -10 25- Yo
(c) 5 < -5

Lot




14) An increase of investment by Rs. 600 Crores resulted in an increase in
national income by Rs. 2400 Crores. MPC is:

(a) 025 k- Quoo.y- L utimee)-l

(b) 4 Ay’ 6ob l-MPC I-MPC-0.25
075 a1 1-0.25 - MPC
(d) 05 0.73- MPC

Qngeohons v Leahogc

15) If net’expor s are positive, national income will:
-\(,a-)'fﬁcrease

(b) Decrease

(c) No change

(d) either aor b

16) Suppose in an economy WU

C =100+ b(Y-50-tY);l=50;G=50;X=10; M =5 +6.1Y; MPC (b) =
0.8; Proportional income tax rate (t) = 0.25

Foreign trade multiplier will be:

(a) 3.33 (N = 1 o1
Lo Fblit)+m  1-08(1-025)+ Ol
(c) 3

A a1 -
[-06+401 05 2

(d) 10

Chabter over 2

X




